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Supplemental Table S3.  PAML analysis of human TRIM sequences:  Base pairs 1-237
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g

* p>0.95  ** p>0.99

Dataset consisted of the 15 aligned human sequences: B1, B2, B5, F1, F2, F3, A1, A2, C1, C2, C6, C8, H1, H2, G1 a

Initial seed value for ω (dN/dS) used in the maximum likelihood simulationb

Model of codon usage frequencyc

Twice the di�erence in the natural logs of the likelihoods (∆l x 2) of the two models being compared. This value is used
in a likelihood ratio test along with the degrees of freedom.  In all cases (M1a-M2a), (M7-M8), (M8a-M8), a model that allows
positive selection is compared to a null model. The p-value indicates the con�dence with which the null model can be 
rejected. 

d

The tree length is the number of substitutions per site along all branches in the phylogeny.  It is calculated as the sum 
of the branch lengths, and is a representation of total diversity in the dataset

e

dN/dS value of the class of codons evolving under positive selection in M8, and the percent of codons assigned to that class.f

Amino acid positions identi�ed in the class of codons evolving under positive selection in M8 with a posterior 
probability >0.95 by Naive Emperical Bayes (NEB).  Coordinates correspond to the TRIM49(F1) protein. 
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PAML analysis of human TRIM sequences:  Base pairs 238-1356
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